3 (Sem-3) PSC M 2

2018

POLITICAL SCIENCE
( Major )
Paper : 3.2
( Public Administration )
Full Marks : 80

Time : 3 hours
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x10=10

weTo i) eppTRd et Ted fors

fa) Which of the following concepts is
not associated with ‘New Public
Management’?

(Community participation /
Efficiency / Planning)

(Choose the correct answer)
TIH (Gl 4R A IR - H'TS
GiYS 7= 2
(TR SReierzel / wel /AR
(= T@Co! MR Sferean)
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(2)

() Who wrote the book, Reinventing
Government : How the Entrepreneurial
Spirit is Transforming the Public Sector?

(Christopher Hood and P. Hoggett/
David Osborne and T. Gaebler/
Luther Gulick and L. Urwick)

(Choose the correct answer)

Reinventing Government :@ How the
Entrepreneurial Spirit 1S Transforming
the Public Sector &4 (1c o1 ff2e 2
(@R TR 7o o . 20n/cfer eg’d
o . SIER/FAIR SFR SIE @@ L
EIRIEED)
(% T&eo] AR Oferean)

fc) The ‘Hawthorne Experiments’ are
associated with the

(Bureaucratic theory/Human
relations theory/Scientific
management theory/ Principle of
hierarchy).

(Choose the correct answer)

‘Hawthorne Experiments’ 28 TS

GoS 7
(SO ©g/Tman T ©h/
e e ©g /T o)

(e TeCol AR Sferedn)
A9/52 ( Continued )



(3)

(d) Which of the following is not a
classification of hierarchy?

(Pay  hierarchy/Area  hierarchy/

Rank hierarchy/Job-task hierarchy)

(Choose the correct answer)

So (FCH1 SRS ARSI PSS 72 ?

(@e wRGR/gA S/ R
AT /om-o HiEE)

(wm Tedch! IR Sfere)

(e) Write a major necessity of ‘span of
control’.

‘e AR’ b1 37 eSSl o7 |

() Write a major principle of delegation.

SR 9BT 337 S foa |

(g9 Which of the following books is edited
by Dwight Waldo?

(Towards a New Public Administra-
tion : The Minnowbrook Perspective/
Public Administration n a
Time of Turbulence/Administrative
Behaviour/The Study of Administra-
tion)

(Choose the correct answer)

A9/52 : ( Turn Over )




(h)

(i)

1]}

A9 /52

(4)

G (TS 2% T20 AICTICH I SR 2
(Towards a New Public Administra-
tion : The Minnowbrook Perspective/
Public Administration n a
Time of Turbulence/Administrative

Behaviour/ The Study of Administra- .

tion)
(wm Tedcor A1 Sferear)

The Chief Executive of India is
(Presidential  type/Parliamentary
type/Collegiate type).

(Choose the correct answer)

SRS I3 IR A
(B 43 /1PM 4997 /72% 43H)

(wm Teaco! AR Sferea)

Write a  principal necessity of
Independent Regulatory Commission’.

g fEEe S’ 9ol I3 ASAEe! for |

Give a suitable definition of ‘public
administration’.

‘TR -2pIPTe’q O T ke WIS 4 |

( Continued )



(5)

2. Answer the following questions : 2x5=10

ICE i | B eren M G

(a) Write any two demerits of Independent
Regulatory Commission.

Sog fAREe sease R @ 151 G fo |

(b) Write any two hindrances of delegation.

SHIA & e o1 e fois |

() What is ‘entrepreneurial government’
iIn the concept of New Public
Management?

T CTIP-TAFIE 1S “TwR 5591 75 9

(d) Write any two demerits of hierarchy.

S T R prea 161 oo fora |

() What is New Public Administration?
TP CETR-2=17 5 2

3. Answer in brief (any foun : 5x4=20
5y Teq for (R et wifs)
(a) Explain the scope of  public
administration.

ETIRF-2X¥IPTR 29 91 <641 |
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